R S IE B FT M &I 2007

p— B
24 = E /LR
2007F JEEHE e pnE
A0 1,876,000 A (£E) ERBERE, ZERBHREZRDOHR
FEEPAEA 13 &  3.8% (3.3%) 1000
FEHFI-IREFEBNODER 0 % 0.0% (7.3%)
ERER (&) 03 04 |05 | 06 | 07 2H
HEBH 406 367 350 357 342
AO105 %5 21.8 1 19.7 | 18.7 19.1 18.2
FERMELBREKBES 140 143 137 145 158 100
AO1075 %5 75 7.7 1.3 1.7 8.4
FEHREDON - EHERK, 20074 A
0% 5 & 100% S
0-29  30-59 | 60-79/ 80+ | 0-29 30—_59\ 60-79 80+ 5
e ; 25% 15% Ho12w | 10w 0
EL?_E 26% 16% % 11% 16%
- ‘ [ ‘ BHGERESR
e e RIS R (19985 L)
HEBREERMERDIRROENRIMNAULEIE
%
0 (BNABETBR < 1) 210 80 o0
30 %  FERMEETEESREERDE B/ 28
. _ 100 " —
20 3.17_2_'15.4?‘.198—*]76_. 147 = L] ™ [ ]
10 : 80
= - . . 68.8 —0- 70.2
. . 60 /:' ‘=g 645
103 104 105 106 107 1 %500 =50.2
% FEFRMERPEEEEE
100 20
"] ’ ’ , ’ s
% i - . . 03 04 05 06 07
- 81.2
% - 76.5 =% 186 20064 BRI EE D h— hEIT & B AMAE
10 &9 =¥ 809 100% 9
60
50 90%
' 03 " 04 ' 05 ' 06 07
) 8oy |12 91
HEFSOmMREE K PPIAZ M =4FI A E S
% (bR L - FERARR < %) 3
70%
100
90 . . = 60% 9
80 5 "
70 X ) 74.9 50%
64.8 / 66.9
60 /‘ =—¢~ 60. 1
&5 40% |
50
'03 " 04 ' 05 ' 06 '07 30% || —
A ST 1A RRHAR 46
15 20% 41 38 Bl |
27
go— 12.1 - . ||
12 ﬁozn 8 — 11, zs, 10%
X x . ~ 10.1 2E)
= ] = ERGY EEEGY EBEGE HEBEE BHEE
6 EH () 131 11 86 44
"03 " 04 "05 "06 07
DRfzh BT D48k B DRl OR2BR DT
——=F8 " BEEH X 2 : i
03 '04 ‘05 06 07
tREOENERFE® 2.2 6.1 2.4 00 16.4
+ {LBEAB TR %) 44 0.4 1.1 27 0.4



